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Hello,

Usually the DHS reports these indicators for women who have had a birth in the last five years.
This is why in the RH_age_period.do file of this chapters on GitHub you will find a variable period
set to 60 (12*5).

However in the BDHS 2017 final report you will see at the top of the table that the indicator is
reported for women with a birth in the last 3 years. So you must change the period variable to 36.
Always check the table titles and notes to make sure the standard code does not need to be
adjusted for country-specific changes. 

When you make this change and run the standard code you will match the final report with only
using the weights as you have below. The svy is used to obtained the correct standard error if
your analysis involves statistical models or reporting confidence intervals. 

Thank you.
Best,
Shireen Assaf
The DHS Program
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